5.1.notebook October 21, 2015

How do I use Yrigonometric identities to transform expressions?

Reciprocal
1 —
cotx=——— or tanxcotx=1 +0Y\ X= /n
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Pythagorean ) sinB = j\(_
M cos® x+sin* x=1 . cH$ B - Lf;
(3 1+tan® x =sec’ x ﬁ_*&-?-: ‘(_2
2 5 2 v* lﬂ
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O 080 + 5i0%B =1 ()

NSEe oS 546

| + %on*h =sec™d
cos2B +<in?e =]

® ﬁn‘Oz im"g' sin b
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1. sinx to cosx

s (0—9‘)
cosx ©)

2. sinxsecxcotx to 1

DU e L LECY
siex oL - @S @ E@KM
9 I

3. (cosﬁ)l 2 to tan?x - sin?x
““ﬁ@w Pyfhieg
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4. cos?x - sin2xto 1 -

(FSin™)- smlx
|- LSintX @

5. tanx + cotx to cscxsecx
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